| dE/dx estimator 1 |

0.3

0.25

0.2

0.15

0.1

0.05

.......................................................................

Entries
Mean

Std Dev

466602
2.417
1.674

Mean

Entries

Std Dev

466602
2.417
1.674

Ratiq
&

0.95

=
TT T T § T T 1T

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

Entries
Mean

Std Dev

466602
2.311
1.648

Mean

Entries

Std Dev

466602
2311
1.648

........................................................

IIII?IIII

AR 910
dE/dx, trunc40

o
= C
w

o
[

dE/dx, harm?2

=—=— DQM_V0001_R000000001__Global__CMSSW_orig

— DQM V0001_R000000001__Global

__CMSSW_allchi2

0.3
0.25|
0.2}

0.15

T Tl

0.1

0.05

CTTaTeS
| Mean
: |_Std Dev

4.976
5.569

.| Entries
¢ | Mean

466602
4.976

""['1"I"I"|

! |Std Dev 5.569

....................................................................

Ratiq
1T r-r&—l -1 T

:uuuunuuull””

0.95%

AR

nlllﬂlll”ll”””

o

10 20 30 40 50 60 70 80
dE/dx number of measurements

0.1

o+

Rati
=

0.95f
0

dE/dx

CTToTeS

i [ Mean
:*|_Std Dev

0.5312

466602
0.2124

.| Entries
¢ | Mean
. | Std Dev

466602

.....................................................................
.....................................................................

g Rl il I il 7 = e m  m c  a n  m  m a2

all

k-

10 20 30 40 50 60 70 80
number of measurements with saturation



	Contents
	Page 1


